Editing French Match Texts

1. Combine apostrophied and non-apostrophied forms by enclosing apostrophied word in angled brackets and typing in full word: ( eg. c’ est becomes <c’> ce est)
(The relevant apostrophied words will already have been separated from the following word in the copy text. Therefore, the forms which are exceptions will already be distinct by reason of their non-separation – eg. d’ailleurs, jusqu’à  etc)
c’  d’  j’  m’  n’  n’  qu’   t’  (note exceptions with  l’  and s’)  

Exceptions :  
l’

Because « l’ »  is a homograph, embracing both article and pronoun, match texting of « l’ » involves homographing.  Only the article forms of « l’ » are involved in the match text change. The pronominal forms remain unaltered.



s’
Because « s’ » stands for both « se » and « si », it is necessary to differentiate the two forms. When s’ = si, it is simply changed to « si » (eg. s’ il vous… becomes  si il vous…) When s’ = se, it is treated the same way as the examples in 1., that is, the s’ is enclosed in angled brackets and «se » is typed in.

2. Definite article forms are combined into one large group:  ie.  lx
l’  la  le  les    are  enclosed in angled brackets  and the new composite form    lx  is typed in

3. Indefinite article forms are combined into one group : ie unx
      un  une are bracketed and unx is typed in

4. Possessive pronoun forms are combined into larger groups :  ie.  mx  sx  tx
     mon  ma  mes  are bracketed and mx is typed in

     son  sa  ses are bracketed and sx is typed in

     ton  ta  tes are bracketed and tx is typed in

5. Gender & number variants of « seul » and « tout » are combined : 

     seul  seule  seuls  seules are bracketed and seulx is typed in

     tout  toute  toutes  tous are bracketed and toutx is typed in

